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MULTI DISCIPLINARY COURSE
Full Marks : 45

Time : 2 hours

The figures in the margin indicate full marks for the questions

Answer the questions from any one Option

OPTION—A : Natural and Physical Sciences in Everyday Life
Paper Code : MDC0200103

OPTION—B : Foundations of Mathematical Sciences—II
" Paper Code : MDC0200203

OPTION—C : Information Sources and Services
Paper Code : MDC0200303

OPTION—D : Personal Financial Management
Paper Code : MDC0200403

OPTION—E : Humanities and Social Sciences—II :
Democracy and Peoples’ Rights

Paper Code : MDC0200503

OPTION—TF : Information and Communication Technologies—II
Paper Code : MDC0200603

OPTION—G : Life Sciences and Environment
Paper Code : MDCO200703

OPTION—H : Understanding the Changing Environment
Paper Code : MDC0200803

oOrTION—I : Business Economics
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OPTION—A
~ Paper Code : MDC0200103
( Natural and Physical Sciences in Everyday Life )

1. Answer the following as directed :

1x5=5
TS AR RTPHIRpiR Sev -

(@)

is the simplest amino acid.

(Fill in the blank)
X Fered G’ @t | (1R 512 o )

(b) Which of the following contains limestone, clay and gypsum as
raw materials?

PRI, QR S fReibT So R (PRGBSI ST 2

(i) Cement / fora%

(i) Glass / am

(i) Ceramics / s

(iv) Plastic / &8s (Choose the correct answer)
(= Tech! AR BRrsar)

(c) What is the full form of MRI?
MRIS 57§ 51 7 2

(d) Write the names of the two electrodes of a battery cell.
QOIR R B TAZ’T [OER AN o |

(e) The four elements most essential to every living thing are

SR SRS 0T SBIROF @R e (e sikRy 29

) HHC, N, O

(i) H,C, N, F

(iii) H, Li, N, O

(iv) H, C, O, S (Choose the correct answer)

(wm Teahr AR Terear)
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2. Answer any five of the following questions : 2x5=10
©oR 2CIR R e SAivbR Ted
(a) What is the name of natural monosaccharide found in fruits

()

(c)

(@)

(e)

| (9)
(h)
)
0
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and honey? Is it soluble in water?

TorEl S (TS (1 AFOF TN THIRRCOR AW 2 T e wge
A ?

What is nuclear battery?
el iR 2

What are vitamins? Why are water-soluble vitamins required
‘in small amounts daily?

bz & R 2 ~1Are T RofRerrR R Ry «Reee tiRe e
w? :

Mention two differences between soap and detergent.

B S SoNIET WEd o1 ~1e SrEy 341 |

What are micronutrients? Explain the role of iodine in our
body.

v Rehiadmz R 7 o <Awe e pfie &, arm w4

What are called future fuels?
ofige TEW IS PRI ?

Define peptide bond.
(oteibiRS arie ST fian o

What ;are germicides? Give one example.

Prenpmeror R e 7 < T fen
What are the constituents of greenhouse gases?
Tvanz (TR TR 7

Write two examples of pesticides.

oo o1 B o)
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3. Answer any four of the following questions : 5x4=20
ToH 2R R @I vRGR See fR

(@)

(b)

(c)

(d)

(e)

(9)

1)

A25/690

Explain the steps of wastewater treatment.

S A RPN PCFRDT W 7 |

Write five differences between primary and secondary battery
cells.

0 SF (NG QOIR AR AT <551 <q1efey B |

What are beverages? Write the three classes of sports drinks
with their functions. *

%@mﬁﬁ? TS ez iRy M I W e IR
|

How many 'car:Don atoms are present in glucose molecule?
Draw the chemical structures of glucose and fructose. 1+(2+2)=5

YIRS R T g g I TIOE
IFTRE 32516 oI B Sigewt 3941 | o A

What is soap? Give the chemical name of soap. Write some
uses of soap.

Wﬁ?WWWMIW@QWﬂwW
forin 1 ’

What is solution? What are the different types of solution?
Give examples of the following types of solution :

T3 % 7 799 Rfen 2R B R 7 oo wona brgae i
()  Solid in liquid solution /SIS (oMbt *mdy Ta
(i) Solid in solid solution/C5BT® b *mily wq

What is emulsion? Write different types of emulsion with
examples. '

SRET 7 SRues Rion oo Ryw Samgerr forgr 1

Write a short note on any one of the following :
oS g R Ic GBR eoS 5 Bl e

() Greenhouse effect/CIv&R ASH

(i) Acid rain/wm 3

[4] ( Continued )

4. Answer any one of the following questions : 10

ol 2pearE R @ @b T

(@) What are conventional and non-conventional sources of
energy? Write briefly about three non-conventional sources
of energy. What are the benefits of using non-conventional
sources of energy? 10
FTPRITS F FAT=Ie S Ty & 2 R 2w o~
&g BT TCF BT o1 | o Rere e ez sl [ 7 e
¢l IR ?

(b) (i) What are colloids? How is a colloid different from a solution?
What are the methods used in preparing a colloid? 1+1+3=5
FemerR & 7 9B ' w96 7@ R Bn @ e
BT 2R IS & T rafS Srerge v =0 2

() What do you mean by natural and synthetic pesticides?
Explain with the help of example. 4 5
SR S ST PR T R Jo1 2 Twrzaepe TR o |
(c) () What are pollutants and contaminants? What do you
mean by heavy metal poisoning? Discuss about the toxic
effect of Cd and Hg on human health. 1+1+3=5
oS O R B R 1@ g ame 3Pea B @ R
e Cd OIF Hed RE& 2ior s=icd seamsa 341 |
(i) Discuss, in detail, about the classification of protein by
giving suitable examples of each class. S
s R BT TR o' cifiReeTe R Remere
AL B9 |
(d) () Discuss the different sewage treatment methods. 5
e 1N Wigrer Rfen iz Trm <4 |
(i) Describe any five non-conventional energy resources. 5
R o A5 SoeEITS *fey T Raca 3¢ 341 |
A25/690 (5] ( Turn Over )



OPTION—B
Paper Code : MDC0200203
( Foundations of Mathematical Sciences—II )

1. Answer the following questions : 1x5=5
SO TR T fore
(@) “If a number is divisible by 9, then the number is divisible by

(b)

(c)

(d)

3.” Find the contrapositive of the statement.

“Ift 9B KA 9T o1 A, 9@ WD 3R RerEey 231 T|WR
Rl e SRecs o)

How many different types of salads can be made from
6 vegetables?

64 *1F-*Ifeis ARy vee T 1R 2

If ‘HAPPY’ is coded as ‘JDPSA’ and ‘DANCE’ is coded as
‘FDNFG’, then what will be the code for ‘CLASS™?

I ‘HAPPY’ *RioRe ‘JDPSA’@ (ORI W Wi¥ ‘DANCE’ R
FDNFG'( (R =, (508 ‘CLASS’ *R0oie e 394 “NiR 2

If p stands for 1+1=2" and g stands for ‘2+3 =8, then find
the truth value of pvag.

M 1+1=2" IPRB pR AF ‘2+3 = 8 I g3 TR T, (3
pv g3 o 8 F |

(e) What is the relation among mean, median and mode?
' i, TN W ILAFS N FFHC! [ 2
2. Answer any five of the following questions : 2x5=10
©oR 2PeAd R e <fisbrR Teq fo
(@) If < means “+, ‘+ means ‘x’,' ‘> means ‘~, X' means ¥, then

A25/690

which of the following equations is correct?

M 7wy W, 3 UL ), YT EY 2, 7 9Y Y, (OB R
CITICH! AN 0T = ?

() 36x4-12+5+3=420

(i) 42+4+5x8-2=26

(i) 43x7+5+4-8=25

(iv) 36-12x6+3+4=60

[6] ( Continued )
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(b)

(o)

(d)

(e)

(9)

(h

(i)

A25[ 690

Find the median of the following data :
19, 25, 59, 48, 35, 31, 30, 32, 51
If 25 is replaced by 52, then what will be the new median?
weT fraT S A= W el 40
19, 25, 59, 48, 35, 31, 30, 32, 51
M 257 IR 52 W, (ST TP Y F TI?

Solve 5x—3 <3x+1, when x is an integer.
S 90 5x 3 < 3x+1, T x <51 4SRN |

How many quadrilaterals can be formed from 10 non-collinear
points on a plane?

93 SETS 41 1051 WA RE o)1 Reaeio) vpgs 1o 199 =R 2

How many natural numbers are there between 192 and 2027
192 F 2027 TEe KW FeIRF ST =R ?

If the 10-digit number 897359y7x2 is divisible by 72, then
what is the value of (3x — ) for the possible greatest value of y?
Tfi 729 BRI 10 ORI WA 897359y7x2 Rewg =, o8 yI VI
Hifde IR AR (Bx — YT I R 2

How many integers between 1 and 500 are divisible by 3 or 5?
1 S 5003 oot 3 Wil 5@ Rom @R [ wRe /A T3,
Ry w11 :

Under what condition, the AM and GM of two positive
numbers a and b are equal?

& TEICT 1 IRF R @ TF bI TG N AWE SN A
N TI?

What is the sum of the coefficients in the expansion of

8
3

2x-—| ?

( x2)

(2x——1§)83ﬁ'?ﬁ9'@ RACAIR STfE R 2

X
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3. Answer any four of the following questions :

If A is the brother of B, B is the sister of C and C is the father
of D, then how is D related to A?

A (% BY °%; B (X% CI SN WF C g DI (%I, (or=’ea
DR G1ts AR & 57/ wirem 2

O] AR R @1 vifkbre s fam

(@)

(b)

(c)

(d)

(e)

A25/690

The angle of elevation of the top of a tower is 30°, On walking
20 metres nearer in the direction of the tower, the angle of
elevation is found to be 60°. Find the height of the tower.

<51 BT TR *1 B 11 30°. TIBR e 20 Rom Sieaiz wfRe
MR TEN 19 60° T | BSDR Tl el 71 |

A train passes by a signal post in 30 seconds and 125 metres
long bridge in 45 seconds. Find the length and speed of
the train.

9 (IO 30 (RPES B eI o1 W 125 FbR et o a
45 (RIYS SOFY IR I/ | FEANORR 07y e @1 FAefar 397 1

The ratio of three consecutive terms in the expression of
(1+x)™" is 1: 7:42. Find the value of n.

1+ )" Rpfee fA61 @fie 1 o™ wgers 1: 7:42. ni7 IA fAefy
1

A rectangular piece of paper 11 cm x4 cm is folded without
overlapping to make a cylinder of height 4 cm. Find the
volume of the cylinder.

11 cm x4 cm SHORN FE GRE S/RAR TrIane S& IR 9o
TR P81 AR 2, TS PO TSl 4 cm T | WA FEIOH SRS
(greIfer) et 1 |

Find the sum of the following :
O59 IerFeTeh! e 4 ¢

10
Yk +3k?)
k=1

[8] ( Continued )

5x4=20

(9

()

The means of two samples of sizes 50 and 100 respectively are
541 and 50-3, and standard deviations are 8 and 7
respectively. Show that the mean and standard deviation
of the combined sample size of 150 are 51-57 and 7-56
respectively.

50 WIF 100 TFE $o1 ofomfa Mg &N 54-1 WE 50-3, AF AWIE
RpfS @1 8 oIF 7 = | I YW ARSI T 150 =, (S0 (S @
g Ao Mg o e RS @ 51-57 W€ 7-56 = |

The father-mother of a persan is 2, grandfather-grandmother
is 4, great grandfather-great grandmother is 8, etc. Find the
10th previous hereditation of a person.

g T 2 T PIS-T1, 4 & FFI-H2D!, 8 T ST SCHI -0
T SR | IREEAR A5 7B It o Ta SR Tferear |

If X and Y are two independent random variables, then show
that they are uncorrelated.

£t X ST Y 701 797 ILE T T, (S0 (TYSN (3 T TR AR |

4. Answer any one of the following questions :

Ooq

(a)

A25/690

oA R @A @B T fira -

If the sum of three consecutive terms of an AP is 21 and
the sum of the squares of the terms is 155, find

the terms.

51 e AR A6 FRe MR R 21 uF Py B
e 155 2 | el B R 2

f two numbers
i ifference between the AM and GIYI o
® ’il;helgl If the ratio of the numbers 1is 1:25, find the

(i

3
umbers.
%mwwmmwmmmmﬁmm 16. SR BR
s:;ionto‘l:zsfm?ﬁ*m’ih%%?
the sum of first 10 terms is 30 and that of
() iﬁeaﬁeitMio terms is -170. Find the sum of the next
4
10 terms.
Sgd W GOR %W 1051 FRF oF (I 30 HAF O g
1061 RS o IR —170. TXTT I 1001 FRF 79 ot
Sferea 1
[9] { Turn Over)
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(6) () Inhow many ways can a group of 4 labourers be formed OPTION—C

out of 10, if Paper Code : MDC0200303
10 & Zﬁiﬁl? &I o1 R 410t 4 SR FRE 7w G T IR ( Information Sources and Services )
IR . |
Y 1. Answer the following questions : 1x5=5
(1) a particular labourer is to be included in each group? 3 ; ©od oRIRT ey fra
o Rew I/ A1 vere =9 2 :
. ' i fa) What are the two main types of information sources?
(2) a particular labourer is to be excluded from each E ) . :
group? 3 L. SR e 7 ot 1 o R 2
= 1 AfCET T <1 W firam =71 2 , (b) Give ahy one example of primary documentary sources.
(i) Find the t:rm independent of x in the expansion of Primary documentary sourcel™ R GFICAT «ibr Trreae st
(2’“‘3%) . 4 (¢ What are secondary sources of information?
x
o : SR (e Bt e 1 g ?
1 At & ;
(2x+3x2) ! i Ax— ? ot ¥ (d) What is the full form of SDI?
SDIR 7 il % 7

(c) The number of runs scored by two cricket players Riyan and

Sanju in ten different innings are as follows : ‘ (e) What is biography?

o TS (W R W =g wh e Yees e 91 IPHR O ' | SelRe 7

e 2. Answer any five from the following questions : . 2x5=10
gﬁ;’,’;’" : 46 120 76 42 04 51 37 84 13 02 o eparRa 1 R e Sfebr Ted

Sanju : (@) What do you mean by interlibrary loan?

2y : 12 115 06 73 07 19 79 36 84 29 | Interlibrary loan 3 & 2

(i) Who is more consistent? 5 ) () Wite down the difference petween print and electronic
o sources of information.
RHEA (YA ST 2 .
SR print SF electronic BEPHI TET N1 o
() Who is the better run scorer? 5

‘ : () Write the difference between indexing and abstracting
e QR S A RAZSF ? | Write 1
| Indexing I abstracting G TR 143 ey |

(d) Distinguish CAS and SDI
CAS oF SDIF %3¢ 41 |

A25/690 [10] ( Continued ) ; A25/690 [11] ( Turn Over )
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(e) What are the geographical sources of information? (e) Describe any five types of database of e-resources.

YR CEIANeR BIRR & 5 2 2 R PR “beRe SIviea=s 3 741 |

()  Write the difference between dictionary and encyclopaedia. () What is a dictionary? Write about the uses of dictionary.

*THCIT S RATPRI TER N1 foray | | Sy 5.7 wfduma 99> Rac fran )

(9) What do you mean by digital literacy? (g) Write about the importance of referral service in libraries.

RSt sTrvrer gicet R g 2 SIS referral serviced &Fg FICE for |

(h) What do you mean by digital media ethics? Write its
importance in present-day context.

RRcee T Al Jfeice 5 o 7 I TRR et TR oFg

() What do you know about the terms ‘misinformation’ and ' I !
‘disinformation’ on social media.-

(h) Give any two examples of Web 2.0.
Web 2.03 R @11 701 Szt faam o : ’

SIS TS ‘misinformation’ W& ‘disinformation’ e 4. Answer any one from the following questions : 10
?
&7 . o] 2NCAId “i§l R’ @I o Teq
G)  What are e-.books and e-journals? (a) What do you mean by documentary sources? Explain various
e-books ¥ e-journals ¥ 2 types of documentary source of information.

Documentary sourceldR i@l’ﬁ 53 E1? ©U9R documentary

3. Answer any four from the following questions : 5x4=20 sourced RfSw o R I <311

i ah s (bp) What is reference service? Differentiate between long-range
' reference service and short-range reference service.

P25l 1 5 7 Long-range 2PRSl (R W short-range 2R CRN
ofefPTTR Bea 91 |

(/0 What are Dbibliographical sources? Write the uses of

(a) Write about documentary and non-documentary sources of
information.

®UN documentary SIF non-documentary Se3q R o |

(b) Write about the evaluation of reference sources. : bibliographies in research work.
SYPIERR TR A e i o | : Bibliographical B¢ I & @7 IR (FqO bibliographyd
' Rz TS )

() Whatdo you mean by media convergence? Write its impacts.

Media convergence 3 & 381 ? WK 2/oR 5ca ford | (d) What are digital reference services? Write the characteristics
. and importance of digital reference service.
(d)  Write the use of social networking platform for library services. ' RRGe @FEE CRPTR & R NG w@e crR @AY we
AR CHR (wae TR oAl Cabeds IzRs Raca g gy S o
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1. Answer the following as directed :

OPTION—D
Paper Code : MDC0200403

( Personal Financial Management )

wots AR TP Tew o

(a)

(b)

(c)

(d)

(e)

A25/690

What is bond?
TPIPIORE I 2

What is the maximum duration of the financial instruments
traded in money market?

a1 TS T 41 R8N FPHR T TS Reww 2
() Less than a year/<J=I(sS

(i) Six months/RAX

(iii) Three months/f¥fAurg

(iv) One year/qFI]
(Choose the correct answer)

(o Teweh1 MR Therean)
Name the broad market index of NSE.
NSEX g0 I8Re i W 2
(il SENSEX
(i) NIFTY
(i) HANG SENG |
(ivy DOW . (Choose the correct answer)
(= Taach AR Sfrean)
Pie chart is a tool of technical analysis. .
(State True or False)
IR 16 Carz TR R b1 sfze | (o7 7 o for)
What is fundamental analysis?
R Resret T R 2
[14] ( Continued )

1x5=5

2. Answer any five of the following questions : 2x5=10
. T T 2peaes R @i <fiobr Teq for -

(a)

(b)

(c)

(@)

(e)

(9)

(h

1}

A25/690

State the concept of investment with examples.

‘o7 GRS €=l 0 41 1

What is primary market?
1A &R T [ 2

State two advantages of pension fund.

cotet <ffRra o1 SR for o

Mention two instruments of money market.

State two features of capital market.
T T w1 CafiEs Sead 4

Mention two participants of derivatives market in India.

SR (SIIRCOBS IR T SERAFINY AN SRS F97 |

State two benefits of investing in mutual funds.

(@ <jftre Rivemom 751 R Tewe 01

Write two differences between fundamental analysis and
technical analysis.

P Reme o RS Reamem e o1 14 s |

Write two differences between primary market and secondary

market.
o TETE ST ¢4 TERR e o1 ey o o

Mention two benefits of investment in gold.

s RfceR 11 R T 7401

[15] ( Turn Over)



3. Write short notes on any four of the following : 5x4=20
were AR R @iee BiiRER evies 5y (R o -

| (@)
(b)
(c)
(d)
(e)

(g)
0]

Investment environmept/ﬁﬁtﬂﬁﬁ “ifca=

Non-security form of investment/SI-2if$f e RN
Contents of. a prospectus/'\ﬂéj?ﬂ’l@ IR R
Insurance /S

Foreign exchange market/(3ti*% RffTm 38R

Securities market /g3 IwR

Types of derivatives market/(GIi3(ebe IGRY 2R

Benefits of stock exchange/2f%efS RfVmrews JRucam

4. Answer any one of the following questions : 10
Toq 2T R @I @b Bes fam

(@)

(b)

(©

(d)

A25/690

What is investment decision process? Discuss the various
steps involved in an investment decision process.

Rt Fram dien T &2 Rivasr frar JfmR w1 sive Rty
emewe Raca ST 41 |

Elaborately discuss the various methods of issuing securities
in the New Issue Market.

T e o afSefe @ik v R¥a “m&fos e R e
40|

Discuss, in detail, the three main components of fundamental
analysis.

Nfere o ARG 71 Tomma Racn Rexera e w1 )

Discuss the structure and limitations of Indian Money Market.

SN U1 I A1 Wi ANREIIR SEAGA] 47 |

[16] ( Continued )

1. Answer the following as directed :

2. Answer any five of the following questions :

OPTION—E
Paper Code : MDC0200503

( Humanities and Social Sciences—II :
Democracy and Peoples’ Rights )

ot franaRs Rt Tee o -

(a) Constitution is the supreme law of the land. .
(Write True or False)

SRR P TS WA | (71 G Py foram)
(b) Write any one feature of citizenship.
TsiREed R i «br taEs foran
(¢) IsIndia a truly federal country? (Write Yes or No)
TRo 3 oIS TSG T ? (= 1 v o)
(d) In which year was the Right to Information Act enacted in
India?

RO (T 57S O] TR SEFH HZAI 229 397 (2f%e 2

(e) Who is the author of the book, Democracy and Its Critics?
Democracy and Its Critics TR 28INI (FIF (FI1 ?

oS g oA R @A fivhi Tes i

(a) Mention two civil liberties of people.
TR TRY TR SR Sy 30

(b) Write two differences between constitutional law and ordinary
law

W@WWWW@‘IWW@T’N@WI

{c) Write two means of acquiring citizenship according to the
Indian Citizenship Act, 1955.

shee T SO ARG SR PR Mo ST 75 oy gy |

A25/690 [17] ( Turn Over)
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(d) Mention two features of MGNREGA. (d) Essential conditions for successful working of democracy
MGNREGAT 701 (3f%8} cary 1 | NS FFeTONT IR R SRz voRE!

() Mention two essential conditions for successful working of (e) Provisions relating to education in the Constitution of India

federalism. SReH KRy fAfRE B i ez
TEABR TR e FRAERIT I SR 781 56 Tray #4411
() Relationship between people’s rights and democracy

() Mention two aspects of right to equality.

- .' GRS S SNTeT] e[ 7oE
THOR PRI 151 et Say 3901 . :

: ' lobalizati d citizenshi
(g) Write the full forms of NRHM and NUHM. (9) Globalization and citizenship

NRHM % NUHM 3 5jf el 761 fordn | R e afRee
(h) Mention two political rights ‘enjoyed by the Indian citizens. (h) Representation in democracy
SRR ARTTFE Bowerel F91 1 AP I TRy 391 | ' . sreFe AfdRRg
(i)  Write two differences between Federation and Confederation. . . .
4. Answer any one of the following questions : 10

TG S FEPIRIST &S Yo1 AN o | v R I BR TS B :

] Mention two hindrances to good citizenship. : o
y : (a) Discuss critically about National Health Mission.

FAIRTEI 151 AfTTor ray 41 |
I = SRR NG TGS AT HICE |
3. Write short notes on any four of the f;{l:;)wmg : 5x4=20 ‘ . ) What is the significance of dissent in democracy? Discuss.
wore AR R @I BiRGR 8o 5 (Ot o
sirome ToAIE ke ¥ 7 Sceva 9 |

"(a) Significant features of liberal democracy
What do you mean by federalism? Discuss the features of

SRR sITeEd OIReRe (IFBPER (c)
. , federal government.
(b) Right to food : Wwﬁgm?w@ﬂwmww'
. ’ 3 . .
'(d) What is civil liberties movement? Explain its importance in
(c) Difference between Citizen and Alien | democracy.
Mo o R TeR =1 iR ! SCHER % 2 ITogs T $FI FI0F S 314 |
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OPTION—F
Paper Code : MDC0200603

( Information and Communication Technologies—II )

1.. Fill in the blank :

&N 3% ARRALE
(a) is 'a programming language.
—— 901 = ey
(p) The full form of Unicode is
Unicoded % 981 2'A 1
(c) The full form of ASCII is .
ASCIIR ¥ 1 g5 1
(d) ____ is a wireless communication technology.
o1 o R ikt o) |
(e) is a video conferencing platform.

b1 fSf¥S” conferencing W |

2.. Answer any five of the following questions :

oo Tl opcares R RIe SIihR ey fors

{a) What is digital technology? -
st 2rafs R 2

(b) What is flowchart?
Flowchart & ?

(c) What is algorithm?
R 52

(d) What is digital information?
oRSa vy R 9

A25/690 [20]

1x5=5

2x5=10

{ Continued )

() What is octal number system?
Octal number system & ?

() What is grey code?
Grey code &2

(g9 What is LAN?
LAN &2

(h) What is physical media?
Physical. media & ?

(i) What is Wi-Fi?
Wi-Fi f§ 2

() What is Internet?

Internet & '7

3. Answer any jfour of the following questions : 5x4=20
were T opcared R e wifbr T foran

(a) What are the characteristics of an algorithm?

<1 «eer Ry AFEIER & &2

.(b) (i) Convert (27);0 to binary number.
27);0 SRIE binary MRS FFI FT |

(i) Convert (56)g to decimal number.

(56)g TRIF decimal SRS FNFI 4 |

(¢ Draw a flowchart to find the largest of three numbers.

RRBT 3120 TREICH! SFAIRLE flowchart SR |

(d) Write, in brief, about digital transmission.
Digital transmissiond Ra08 o5t forar |
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(e} Write a short note on Wi-Fi.

. OPTION—G
Wi-Fi ¥ @°q® 901 5 (Bl foran |

Paper Code : MDC0200703

Life Sciences and Envi
() Prepare a list of common types of networking devices. ( ronment)

1. Answer the following as directed : 1x5=5
20 41 | '
MRS IS (A (FoT SR wiferet TS RAICIRA AR Tea et -
Which o . .
(g) Write, in brief, about any one of the programming languages. ) (a) ich of th_e f;llowmg 's a consumer?
- : © [C3) ?
R @ o1 2’=nfie SR Racy o o | S (FE @9 Toicere 7w
(i) Plant/3fe%
() What is video conferencing? What are the components of video ' (i) Algae/CTR
conferencing system? ! - (i) Fish/IR
Video conferencing & ? Video conferencing system3 BoAMINCAI | ' ) (iv) Phytoplankton /%% 2
BR9 : (Choose the correct answer)
. (o= Techr AR Sfersan)
4. Answer any one of the following questions : 10 , (b) Which of the following is an example of sedimentary cycle?

wors fian e R e @b T fo So ICST (o TR BT BT =W 2
: (i) Oxygen cycle/SRKE o

(i) Water cycle /e

(i) Sulphur cycle/XEFH TF

(iv) Carbon cycle /IR b&

(a) Write an algorithm to convert a decimal number to binary.
51 decimal SR binary 0 TelRR SR <61 GerRas o |

(b)) How is information represented digitally? Explain.

R 91 T 2 [N 90 (Choose the correct answer)
©f FENF o represent

(= Tehr AR Bferean)

trophic level.
(Fill in the blank)

(¢) In a food chain, producer occupies

(0 How to set up a LAN network? Explain.

LAN network (Fit® afegiem I3 A1 2 00 <41 | . GO Y7 37O BRATTFITYCR CRT % s |
| " | (<13 572 o6t )
.(d) Write short notes on : 5x2=10 (d Ozone lager is present in of atmosphere.
Y CBRe Foret : ' (Fill in the blank)
' ' ' FCH! IFNGFI S T | EN
() Chat application ! (AT 3% oyt zw1)
' ' fe) Write the full form of BOD.
@ WwWw | BODR 57 o1 o |
A25/690 [22] ( Continued ) , : A25)690 (23]
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2. (a) Distinguish between (any three) :

el ot (R ceen Tomn)

(i Producer and Consumer
o e TS

(i) Food chain and Food web
A7 *RYE € I GIE

(iij) Parasitism and Mutualism
RERT e eIl

(iv) Biotic and Abiotic components of ecosystem
AR T I SERe TAmE

(v) Natality and Mortality rates in population
GPRYTS T A€ TP 9

(vi) Primary and Secondary pollutant
oS S N A/

(b) Write on the following (any two) :

oS FRAARA 89T ol (R e ) :

(i) Dissolved oxygen
TS SRIE

(i) Ozone layer depletion
'Y’ BT ST

(itj Biotic community
el TR

(iv) Ecological succession

A25/690

RS ey
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2x3=6

2x2=4

( Continued )

3. Write notes on / Answer the following (any four) : 5x4=20
wore franaee eoige Gl for /e e (R e wifkY)

(a) Scope of environmental science/*f{t R@FR 4RT
(b) Carbon cycle/3Rq 5&
(c) The role of biotechnology in pollution control
o fRagre IR SaReme i
(d) Characteristics of population/SPRUR CIFBPRR
(e) Discuss the causes of global warming.
e Saeel IR PRPTR SICALAT 41 |
() Different layers of atmosphere/IRNY*Y fRfen OPER
(g) Define biome. Write four characters of tropical rainforest.
'R e | @R R’ oIRGT gy o
(h) Greenhouse effect/GIEE R ARG
4. Answer elaborately (ény one) : 10
IR Teg fawn (R comen @) ¢
(a) Discuss the impact of climate change on living organisms.
SRR ARG Fo1S TG 87T “I_1 AR A WA T |
{b) What do you mean by water pollution? What are the different
sources of water pollution? Discuss the effects of water
pollution on living organism. 1+4+5=10
A el e B J@ 2 1M e Rivw Bopnz R 7 Qi eoe
N PET ASRPTR oA 1 |
() Describe the flow of energy in an ecosystem.
RERoTe =T IR (TR =, I 740 |
(d) Write an essay on sustainable development.
TTHY RIPE @RS 99w 61 o |
A25/690 [25] ( Turn Over )



OPTION—H
Paper Code : MDC0200803
( Understanding the Changing Environment )

1. Answer the folloWing questions : 1x5=5
Oo 2PPTRY T fr
(a) In which year was the Kyoto Protocol adopted?
RISC1 pRs cefon oR (2R ?
(p) In which area of the world is the concentration of Bushmen
Tribes found?
AR (T ALTS J2CAN TASINS (FIFI S ¢l ¢TI TR 2
(c) Who is the father of Green Revolution in India?
TSR o ReE g I1F PRI = ?
(d) Which toxic gas was responsible for ‘Bhopal Disaster’?
@CE! REE (o1=3 AR “geoire qefior FReivs C2fRe 2
(¢) In which layer of the atmosphere does the temperature
decrease with the height?
IRFGS (FICE1 BI© Tl IpR =10l Feol Taeer FR AR 2
2. Answer any five of the following questions in very short : 2x5=10

o eppE *d R e <ioBr Ted wf v i -

(a)
(b)
()

A25/690

Mention the components of environment.
R BomePTR SeE 91

Write the gaseous composition of the atmosphere.

IR oR st T fordn |

Mention the role of water vapour in the atmosphere.

IRGTTS A S BT ST 0 |

[26] ( Continued )

o~

({d) What is lapse rate?
CIPR XS FIF QA ?
() Mention the types of biodiversity.
o (AP PR Sra 9 |
‘()  What is ecology?
*REfRem w17 @ ?
(g) Distinguish between natural and artificial ecosystem.
i W P RfEfSoaw wree <l B 1
(h) What is food chain?
I R FIF QN ?
(i) What is the role of decomposers in an ecosystem?
“RiEfeeg Yore R ghe & 52
() Name the greenhouse gases in the atmosphere.
TGS AP CIO&IR ISR 7 o |
3. Answer any four of the following questions : . 5x4=20
- ©EY PR R R T BIROR Tes e
(a) Discuss about the structure of atmosphere.
AL KIS RICH A 347 |
(b) Write a note on hydrological cycle of the earth.
|7 weEe 8o uft B o1
(c) Discuss briefly about the concept of balanced environment,
SR *fRCR QIREACHT TILF ST F41 |
(d) Discuss about the flow of energy in an ecosystem.
9B “RETTTS @1 e AR SCEGA F4 |
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(e)

“(9)

)

Write the causes and control measures of water pollution.
1R AR FIR S R PR o |

Discuss about the causes of Tsunami and its impact on
environment.

TN (TR PRI IF AIRCIR €°RS TR A AL I |

Write a note on man-made disaster with suitable example in
Indian context. B

SRS (TFIeie MR-38 eoR Racs Srzaerre oft B 39 k4 |

Write a note on the Wildlife (Protection) Act of India.
ST IWAMN (7)AW@ @t Gl g 41 |

. Answer any one of the following questions : 10

TR 2PPIRA o[ R @I @b Beg fan

(@)

(b)

(c)

(@)

A25/690

What is biosphere? Explain the characteristics of biosphere
and state its interrelationship with other segments of the
environment.

Seamed 7 GRMee WREPFR I 3 9 AR RE e
ire TR ARSTE TrEy 91 |

Explain the human adjustment in equatorial biome and
mountainous biome.

ﬁ@ﬂmﬁme’wmmmmm,WW|

Write a note on the relationship between population growth
and environmental degradation.

TR 3% o ARGPR SRR e T 8RS Bl G I8
sl

Discuss how deforestation and desertification contribute to
climate change.

Wwwwwﬁwqmmﬂﬁz’w © R ¢S, AL
il

[28] ( Continued )

1. Choose the correct answer of the following :

OPTION—I
Paper Code : MDC0200903

( Business Economics )

TS AT W Teachl AfR Sferear :

(a) Which of the following is part of microeconomics?

TER (D! FE ST TIYS ?

() National income
MW o

(i) Unemployment problems of society
Sre et S

(iij) Fiscal policy of nation
T o NS

(iv) Price determination of a product

51 Teomwe v e

(b) If the quantity demanded of a commodity is unresponsive
to change in price, then the demand of that commodity is

T 51 ARAR oA AR TN RIS ofS ARt T, oo
G AR o 27

(i) perfectly inelastic/ = SfEfogre

(i) elastic/ @

(ifi) unit elastic/9F% E

(iv) complete elastic/T T oo

(c) In short run, when the output of a firm increases, the
average fixed cost per unit of a firm will

TS, m@ﬂ]ﬂf@ﬁﬁtﬂmﬁﬁwm‘im, mm%ﬁw
TS TA [E

(i) increase /33 A
(i) remain constant/f%3 12 ARA

(i) decrease/Z™ R
(iv) disappear/S7U TJ

A25/690 . [29] ( Turn Over)
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(@)

Which of the following statements about the demand curve
of a firm under monopoly is true?

GFCEoU IS <1 AR B (A TS o @ICH1 RS ey 2

() In monopoly market, demand curve of a firm exhibits
positive relationship of price and demand.

GFeefon IEEe 9B AP TRW @3E IdW wWe W R
yEe 7 |

(i) In monopoly market, demand curve of a firm exhibits
inverse relationship of price and demand.

GFCRIOT TR 1 ARSI BT (I B W AT T Reifie
TR i |

(i) In monopoly market, demand curve of a firm does not
exhibit any relationship of demand and price.

TR (IR ST TR CFAS 1 AP TR TR F BRI
GG SR (TR | _

(iv) Only in the time of ending of monopoly market, the
demand curve of a firm shows the relationship of demand
and price.

GFCRU T ST STASCR (1 B A w19 T ifRm
IR @R |

(e) Which of the following is an example of market form where
the firms are price-makers?
ToR (FCHT T TR T TS AfRBHRR 73 i 2
(i Oligopoly
THRCFOR &
(i) Monopolistic competition
Rcergs Gl IR AfIfrer
(i) Monopoly
oo ISR
(iv) Perfect competition
*§f afdcafren Tam
A25/690 [30]
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2. Answer any five of the following 'questions in short :

o 2RRARA R e SHobr vt s i
(@) What is the basic difference in between micro- and

(b)

(c)

(d)

(e)

(9)

()

3. Answer any four of the following questions

macro-economics?

T A RS SRS e g2y o 7 0

What is trend projection method for demand forecasting?
IR SRYN IR cvare 4R1 2ol @RS TG 7 2

What is the basic difference of ‘demand’ and ‘desire’ of
a consumer?

T (OISR DR e QRS Arere 325 A1 2

Write the basic distinction of opportunity cost and out of
pocket cost.

ST S SR P R RN 51 G 21 R 2

How is isocost line different from isoquant line?
IR (T IW-TRAT @IF *—] @RS 2 ?

Write the two features of perfect competitive market.

ol eifScaIeIgere Temea w1 Cafiey ot |

How is oligopoly market different from monopsony market?

FARCTOR TR IFF (FOR I 9 (T YT ?

How do you define money and money supply?
I S W QNN S (Feamed 7 2

oo 2PN R T wifeR Tes fa

(@)

(b)

A25/690

What are the factors determining change in demand?

IR ARTETR IF %ﬂl‘ﬂﬂ’lﬂ? R

Write diseconomies in large'scale of production.

ﬁ«W%ﬁWWWWﬁﬁ«WWl
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(c)

What is price discrimination? What are the types of price

discrimination? 2+3=5
w1 fomel {7 e Romor Rfen aer B Re2
(d) State how consumptions and savings are related to capital
formation.
TR TR (LS (Sl TF AR TR 5 2
fe) How is Business Economics different from Economics?
FRIe TR SRR [ @FEF = ?
() How is demand forecasting significant?
SRR SRYAR @T TR ?
4. Answer any one of the following -questions : 10
T oA R e @by e i
(a) Explain the law of demand and its limitation.
iz R o TR HivRas! W I
(b) Explain the cost-output relationship in long run with suitable

(c)

(d)

diagram.
%Wﬁawmmmwﬁmamww |
How is price determined in perfect market competition?
Explain.

o ezt e 79 CRCCS S T2 T

What is GNP? Analyz°e the process of determining GNP. 2+8=10
T T8 Seotr R 7 5 7B Teetrel Rl I 1S R w1

* x*
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